APRIL 2019 | 60552/CYASA

Time ; Three hours . Iy B : . . Maximum : 75 marks
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: PARTA—(10x2=20 marks)
" Answer any TEN q_‘uest_ionsl.
What is underwriting?
RUUDS erin g wing?
Mention the p»referen'tial rights of preference'share holders.
@m@tﬂmmu usigsryisefien weneyflenosamends @gﬁ]l.lé]@&;

What do you mean by profit prior to 1ncorporat1on'?

RLL@@G)JI‘I’&SHSQSQD@ WPH®SW @eomuib ug)@ ﬁaﬁ]rr cm;ﬁ]eug,j ereTeT?

How do you classify debentures under redemption bams"

By @m.uucm_u_(ﬂev TEUGUT) LG ug,ﬁl;rrma;a)m Gueoa;uu@g,gjaﬁrr? '

’

What are current assets?

. By & Qanggiasar eramLianay Wiréneu?

MentiOn the purpose of a balance sheet?

(B @@uqﬂmws @[ﬁ]UI_(ﬂGbT Crréagdanené @gS]ulﬁl(b\a;
Define goodw1ll

BHEUWIT- mmgaﬁ]wéﬁasar&rm B([H5.

List out the methods of valuing shares

UEiGaemen HLUIKGHWD wpenmsament uLLq_u_laS]@a;

What is capital reduction?

- (PBSD GEDUIL CTELIG| eTemen?

How do you alter share capital of a company?

eTeueITy @b Hmingder Lk (psame wIHpb Qeiiesi?

What are final accounts?

BnES saéGaEdr cranLiamel Wreneu?

How do you treat the surplus in capital reduction QCCount"

WP3D . GOPULEG sansdld o der o ufenw GTeUeUTD)  Sauadle

TBsgisQsTeTeST? |

Oﬁroq@a QQCLOM‘J,—-T\% - ¥
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13.

14.

PART B — (5 x 5 = 25 marks)
Answer any FIVE questions.

Z Ltd. issued 1,000 9% debentures of Rs.100 each, payable Rs.20
on application and the balance on allotment. Applications were
received for. 1,500 debentures. 900 applications.were allotted
fully, 400 applications were allotted with 100 debentures and

remaining applications were re]ected All sums were duly
received, Joumahse ar

ZaS\. 1,000 9% &én ugdliigeamen (m. 100 afgib) a&k&n‘rsﬂwuugﬁﬂ)@
5. 20 wppd BES aramsmu eabdiyer Curg Qumb oflssse
Gleuefllbil gy, 1,500  sLer UBSlsEns@  eflemmentiiikise
Qupli’ L ar. 900 aﬁ]wwuum&@a@ YWsL esEsuul® 400
Qﬁlmmuuma@a;@ 100 sLen  usHymiser QSIS - 58
el etT LIS 6T ;f,]ljna;rflasaquL_Lem SmeEg - AsTamssEmD
(l,pemg)mrré;ﬁ Qupliul’ L ar. 1psH GHLULS®mTS 5[ '

The following is the balance sheet of a partnersh1p as on the
date of its purchase by XYZ Ltd.
Liabilities Rs. Assets Rs.
A’s Capital 5,00,000 Goodwill '2,00,000
B’s Capital 5,00,000 Land & Building 5,00,000
Creditors 3,00,000 Plant 3,00,000
Bills Payable 2,00,000 Stock 1,00,000
Debtors 1,50,000
Cash at Bank 2,560,000
15,00,000 15,00,000

On the date of its acquisition, goodwill is valued at Rs.3,00,000,
Land & Building at Rs.7,00,000, Plant at Rs.2,00,000 and stock

~at Rs.75,000. All assets and liabilities are taken over. Calculate

the amount of purchase consideration.

Gemeumpeugy XYZ &l Qametapsd  Qsiis  pretenny @
g L_L_méarenLoulles @@uqﬂmm5 @gﬂuurr@m n
Qumrliyéser . Qenggiése €.

A—Gﬁ]m PSD 5\,(_)0,-'000 BHGUWT 2,00,000
B-afletr (pged 5,00,000 Hlaod Lngjj_g;JLb_ 5,00,000

SLigl1d -

 sLaTBCaiT , 3,00,000 gareum (b 3,00,000
¢ QegisgisnE i wropms L6 2,00,000 srsdmay - 1,00,000

as:Lmrraﬂa;dT 1,50,000
cumlu(mLiny 2,50,000
15,00,000 15,00,000
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Hlmiod 2igen QeSSLLL L (PSma uBdhe m. 5 Gonss w6y
Qalisg). pHALWLT LOYL G@OTU BLL & SaméE (LHm BHLL) WWEID
sP056swsILL CaamBo. sereur b 5. 3,10,000 sfisQswsriui
CauarBd. CaTR&siiL_L LoglasLmeuLS\m@ WsH GHLUsET She
PSD GMDLILE Samémad SWTTEsaLD.
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Lfﬂsirra_l@ajmmrj)m,r_r)é; Qaram(®) @b STSTyawT Likiden GUPEIGE Sl
Sa&E (&

5,000 8% penafieniot’s Lk saT . 100 ofsid 5,00,000
75,000 srgmyem) ukigsar @. 10 S, ' 6,00,000
uBEnE .8 Qeiss il L g)
B8l auflé@ Whamsw aifumiseEb @b 2,80,000
aufll effsid ~‘ ' 50%
geuamm aumLpb Gung sTUGHE wIHDLILL L g

- Qarusde 20%
QUPSSHLOTET QU(HLOTET G 10%
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15.

eThiuy pretarm pHQUWT ¢r. 3,00,000 ere UG DU L g Hleowd
LPpHD Sl b e 7,00,000, gemeuritb ¢m.  2,00,000 wHmibd
sr&EmUY . 75,000  erew wHLEGLLUC L e Simargg
Clengg) e @sib, QUi de@pLd T HSgI&RsTeTaTILL_ L 6.
CaTeTs LHLILIGT AsTmaami s samss (5 &.

On 31-12:2000, the trial balance of XYZ Ltd. shows provision for _
tax of Rs.1,00,000 representing the provision of the previous

year. The trial balance also shows income tax paid Rs.90,000.
It is estimated that a provision of Rs.1 ,40,000 is required for the
current year’s income. Tax deducted at source while receiving

‘interest on investments amounted to Rs.20,000. The gross

amount of interest was shown in the P & L a/c. Write a provision
for income tax account incorporating the above details.

The following is the balance sheet of Kaveri Ltd. as on 31-12-2000 oemm XYZ o e Pouumie) s bs eumL e
31-12-2005: @g15Gs . 1,00,000 crens SMLlgwgl. eumomer el Cegisuig
. Liabilities Rs. Assets Rs. - 90,000 erameyib @riumiie, s igwig). pLLiLy QU (ML GU(HLOMENdE) 6o
2,00,000 Equity shares of ] : _ Bgl em. 1,40,000 2815@se0 CsmeuliLGdng erars Gl GHLILILL &),
Rs.lQ each fully paid up 2,0,00?000 Goodwill 5,00,000 wsSHaflan Bs Qi ly. Qugih Qunips aperisics e 5 Qriiia oo
Creditors 15,00,000 Plant 17,00,000 ®- 20,000 gen. Curgs wlys Csros Qoru BLLE sasdm

]%teolfé:)rs 2’88’888 ' srLuulLg. Cupsmdu  efeurtismend ST euHLren  euffl

Cash - ’10:000 PBIGGID EEMEME T(LHE|S.

Profit & Loss A/c 1,90,000 16. Calculate the amount of goodwill on the basis of three years
purchase of the last five years’ average profits. The profits for
the last-five years are Rs. 4,800, Rs.7,200, Rs.10,000, Rs.3,000

_— and Rs.5,000 respectively. '
55.00,000 S5.00000 SL_i b3 aupL-misaflar spmaf] Gerurisemers Q&meiT(®) eLpenny| eu(mL
The company decided to reduce the paid up capital by Rs.5 per Qﬁﬁi (ﬁi?j .(g)smg)uﬁlsb ;brfj@uu.'l'r'r Wt ;‘T‘i mg %(g@
share. Goodwill and Profit & Loss a/c (debit balance) are to be . uéja;aﬂdﬂ @mmﬁmm' 41800 o7 900 10.000. 3000
written off completely. Plant is to be written down by © X O %L 6. 1200, 610,000, .3,
Rs.3,10,000. Give journal entries for the given scheme of LODI 5-5,000 wapGu @b,
reconstruction and propare capital reduction account. 17. S Ltd. having equity share capital of Rs. 3,00,000 dividend into
Gemaumeugl smCGaufl al.ar 31.12.2005 eiananpuw Qouyblmad 3,000 shares of Rs. 100 each decided to sub-divide the 'shares
GHlLLTEWD. , hy W : into 30,000 shares of Rs. .10 each. It also cancelled the uncalled
QumIysar e, Qergzdser ¢r. amount of Rs. 2 each on its 50,000 prgference shares of Rs. 10
2,00,000 sfgwols K BHAULT 5,00,000 each, Rs. 8 called-up. Give journal entries.
LRIG&ET ¢h. 10 afigd 20,00,000 SeTeUTL LD 17,00,000 3,000 urigser . 100 efsid Wflssiuc @ em. 3,00,000 sfewr LTS
W QaID tegussiLiL g FTHEmLY 8,00,000 paso®s Qsremymhs S 6L SluuB@smer . 30,000 ukigaserT
sLatbGgmir 15,00,000 sLanmmefisar 3,00,000 @ 10 aar 2 CAALY Qeiiw @pyay Qstisg). m: 10 aSsaperen, (5. 8
QrréeLd 10,000 Si@pssuulL 50,000  weargifleont  ukigseern Bgmer
_ Qeoruple &/@  1,90,000 DADPESULLTES DgTansurdu . 2 e 168 Celiggl. wpsd GHlLUysET
- 35,00,000 35,00,000 5.
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18.

19.

20!

21,

Bring out various types of preference shares.
weargiflenols uRiEsaflar LOCaD eumssmeTs QaTeanis.
Point out the factors affecting goodwill.

BT UTH&EED srrailsmarnd sl iy ssT (Hs.
PART C — (3 x 10 = 30 marks)
Answer any THREFE questions.

A company issued 10,000 equity shares of Rs.10 each at a
premium of Rs.3 per share Rs.5 on application, Rs.5 (including
premium) on allotment and the balance on call. All the shares
offered were applied for and allotted. All the moneys due on
allotment were received except on 200 shares. Call was made.

_The entire amount were due thereon was received except on 300

shares. The Directors forfeited 200 shar-es_ on which both
allotment and call money was not received. Give journal entries

“in the books of the company.

@ Blmiwb @ 10 efsaperer 10, 000 SIS LkiGasmar LkSnE
5. 3 peainsHed ellarariiid Bg . 5 @SS gar Sg . 5
(wevaold Ceigg)) LHHLD LSQQg,nm&;Gmu_l <ienpidler Qumb essde
GleuafluilL g1, wpenerioy Qs eSSl LIkIGSEHEED elammaumiiLib
QuELILLE @sisSE Dewlul Lear. 200 UkiEsmas s6ilT Siamarss
LURGSER&EGD @SBl wewrd  Qupliu L. SlenipUiLy
Gemwiul g. 300 ukiGsmaTs 5697 SMaSE LIkGSE5HE0D LD
Quplul e, R8/680 oHHID Seplyliuend Qeassiurg 200
LURGSERD Qubgaisemed ublipssd QAeuuliulcern Howsder
ghsefler Wpsn @@uq}&m UM

Mohith Ltd. has Rs.10,00,000 8% debentures of Rs.100 each

outstanding on 01-01-2006. Interest is payable on 30t June and
31 December each year. The company purchased
500 debentures at Rs.97 ex-interest in the open market on
01-04-2006. Give journal entries in the following cases:

(a) The debentures were cancelled on the same day.

(b) The debentures were retained till 01-07-2006 on Wthh
date they were cancelled.

01.01.2006 Sjemgy Coradls el g5 100 aﬁg,@omm em. 10,00,000
8% sgalis sLen LUsSrhiseman Bajmade QamamsHHss). Qe
LD Rar 30 whmb geouF 31 gdu Csflsafler euli
auphsiuL GeuawGb .01.04.2006 oemy  Hmwb 500 sLer
ugdrhisear 5. 97 ey seliss Qauallé shagsufer eurmduig.
Geireumid Flencaailad (Wwad GPLILSMETS &S(Hs.

| 4 . 60552/CYA3A

22

23.

(=1) =Cg prefled sLan ugdHyhiser rsg Qeliwinu L e
(<) 01-07-2006 eueny sLan LSHTRES 5585 MausSILLH |£ﬂem_|
‘9Gg prrafled r&g Qi L ar.

From the following particulars, determine the maximum
remuneration available to a full-time director of a
manufacturing company. The profit and loss account of the

company showed a net profit of Rs. 40 00,000 after taking into
account the following items :

Depreciation (including special depreciation of Rs.40.000)
Rs.1.00,000.

Provision for income tax Rs.2,00,000
Donation to political parties Rs.50,000
Ex-gratia payment to a worker Rs.10,000

K Capital profit on sale of assets Rs.15,000

Qameumid efleupuseners Qsman® @@ 2husd Hnwser wpep Coy
QUIEEBHEEE Hep_Gs51G LMD SHsug oarflu1SmS S
san@inéseqd. Gemeumeaamapans samsdd THSSSQETE@TL
GpE Howsdar Goru s s op. 40,00,000 Hley @emub
&MLlg UIg).

GsWiwrard (Apiug Gg,t[.n.orrémb ¢.40,000 2_drem_&8wig)
5.1:00,000.

aupLoner eul @gidse ep. 2,00,000

<ITflue s Hs@péE aupridlu pardsrenL es.50,000

@@ Asmflaralse pardaTamwns eupkidiig p.10,000
Q&.rrgg] aflpuener Bgrar epeger Gearuid ep. 15,000

From the following information calculate the yield value per
equity share :

Rs.
5,000 8% preference shares of Rs. 100 each 5,00,000
75,000 equity shares of Rs. 10 each, 6,00,000
Rs.8 per share paid up
Expected profits per year before tax & 2,80,000
Rate of tax , ' , - 50%
Transfer to general reserve every year 20% of the profit
Normal rate of earnings. ' : - 10%
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